
04 operatori aritmetici

x y x + y x - y x * y x / y x ^ 2 (x
2
) x * 50%

0 1 1 -1 0 0,000 0 0 riga di altezza 5

2 3 5 -1 6 0,667 4 1

4 5 9 -1 20 0,800 16 2

6 7 13 -1 42 0,857 36 3

8 9 17 -1 72 0,889 64 4

10 11 21 -1 110 0,909 100 5

12 13 25 -1 156 0,923 144 6

14 15 29 -1 210 0,933 196 7

16 17 33 -1 272 0,941 256 8

18 19 37 -1 342 0,947 324 9

20 21 41 -1 420 0,952 400 10

22 23 45 -1 506 0,957 484 11

24 25 49 -1 600 0,960 576 12

 = formula

colonne di larghezza 3

operazionitermini

colonne di larghezza 9

righe di altezza 20
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